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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 38§ questions.
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Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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All questions are compulsory.
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(i) 797 #F4% 1 @ 35 T% TGS J97 81 J9% Fo7 1 3% & &1 [MRIFET 57 997 %
FIT Aoy

Questions from 1 to 35 are objective type questions. Each question is of 1
mark. Answer of these questions may be given as per instructions.

R&sr : [Feariee sglamediq 797 & del faweq gy :

Select the correct option of the following multiple choice questions :

1. BCC W% Fifted & Reaq &M i yfdead ® ¢ 1
(A) 68% (B) 32%
(C) 74% (D) 52%

The percentage of space unoccupied in BCC Unit cell is :

(A) 68% (B) 32%
(C) 74% (D) 52%
2. FHEAEIG REX® & G & 1
A) P° (B) Kb
(C) Kf (D) ™ § ®i T
Symbol for Cryoscopic constant is :
A) P° (B) Kb
(C) Kf (D) None of these
3. T IhaT B SI R B 1
(A) Sm™ mol! (B) Sm® mol™’
(C) Sm™ mol (D) S m? mol™!

The SI Units of molar conductivity are :
(A) Sm™ mol! (B) Sm® mol™’
(C) Sm™ mol (D) S m?mol!
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4. T B H o F A Ao B T R 1
(A) G g5y 2 (B) &"g !
(C) Hr=ar! gyt (D) H=dr 999 !
The units of rate constant for first order reaction is :
(A) Concentration? Time ™ (B) Time™’
(C) Concentration™ Time™ (D) Concentration Time™
5. 3 ARABRA F AT AREEREH B Wl W MR T FO &, A AR B 1
(A) I &S (B) ¥ Hife
(©) facia ife (D) T & %I T

If rate of a reaction is independent of the concentration of reactants, then
reaction is :

(A) Zero order (B) First order
(C) Second order (D) None of these
6. freidiad & & & T 8 7 1
()  [TUH,O)* (B) Cwlh
©  [SAH,O0™" (D) [Zn(NH:)¢*"
Which one is coloured ?
(A)  [Ti(H,0)4* (B) Cul,
(C)  [Sc(HO)¢l™" (D)  [Zn(NH;)e]**
7. [CH{NH,);ClBr @ [CH{NH,);Br|Cl ®F-§ dwaad & ? 1
(A) e (B) SfHfa
(C) wewIsTH (D) ST
Which type of Isomerism present in [Cr{NH;);Cl|Br and [Cr(NH;)sBr|CL?
(A) Linkage (B) Geometrical
(C) Optical (D) Ionic
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10.

11.

(4)
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fFr=ifafaa & | 6 G § o1g &1 ST Sfaen 3 © ¢

(A)  [Fe(CN)g* (B) [CuCL]>
(C)  [N(CO)y] (D) Ki[Fe(CN)g]
In the following complexes which metal has zero oxidation number ?
(A) [Fe(CN)o* (B) [CuCL]>
(C)  [N(CO),] (D) Ky[Fe(CN)g|
Frfeied & @ @ g s & °

(A) OH~ (B) NCS~

(C) CN~ (D) CO

In the following which is strongest Ligand ?

(A) OH" (B) NCS~

(C) CN- (D) co
feferemee dexiver el a9 @ Rty ® 7

(A) BN (B) Wi

(C) RN (D) TwIRM
Williamson synthesis is used to prepare :

(A) Ether (B) Amine

(C) Ketone (D) Alcohol
Fre & @ I geeram o § 7

(A) TN (B) W

(C) T (D) p-TTEEWHI
Which one is the strongest acid ?

(A) Ethanol (B) Phenol

(C) Methanol (D) p-Nitrophenol
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12. C,H;OC,H;+ HI— A+ B, A9 B & : 1
(A) C,H;OH, C,H;I (B) C,H;OH, CH,;I
(C) C,HsCHO + CH,I (D) C,HsI, CH;OH
C,H;OC,H; + HI—- A+ B, Aand B are :
(A) C,HsOH, C,HsI (B) C,HsOH, CH;5I
(C) C,H;CHO + CH,I (D) C,HsI, CH;OH
CcocCl CHO
H "
8. ) Q) - o |
Pd - BaSO,
(A) Fer@ sAffRan (B) HVZ affsean
(C) USITHS ST=gH (D) e Stffsean
CHO
COcCl o
—2 @ , this reaction is :
Pd - BaSO,
(A) Etard reaction (B) HVZ reaction
(C) Rosenmund reduction (D) Gatterman reaction
NO
14. @ Q%P, P & : 1
LSRR
NH, CHO

® O ® O

H
© © D) é

NO, H,/Pd
STy
Ethanol

P, Pis :

NH, CHO
® O ®)

© ©) (D)
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15. UcserEs Td Hia & fse Fr a1 R o & @ 1
(A) ®= H,SO, (B) i@ znCl,
(C) e g (D) &= HCI
Aldehydes and Ketones can be distinguished by :
(A) Conc. H,SO, (B) Anhyd. ZnCl,
(C) Tollens' Reagent (D) Conc. HCI
16. S=iIM SEUSINEY RIS &l CAier & SAfishar &t 1
(A) I (B) IIAEE
(C) S={MEHN (D) WA
Reaction of Benzene diazonium chloride with ethanol will give :
(A) Benzene (B) Benzamide
(C) Benzenamine (D) Phenol
17. s B, # #ea € - 1
(A) UEmiSs e (B) @mHE
(C) VESITRiT (D) TERErT
Vitamin B, is known as :
(A) Ascorbic acid (B) Thiamine
(C) Riboflavin (D) Pyridoxine
18. HIF-1 fqee o § facg B 7 1
(A) faerf K B) fefE D
(C) faei™®= B (D) fee™=E
Which vitamin is soluble in water ?
(A) Vitamin K (B) Vitamin D
(C) Vitamin B (D) Vitamin E
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@S - =i g9t @ oY @ -a Il a7 o -

19.

20.

21.

22.

23.

24.

25.

26.

Answer the following questions in one-two words/ sentences :

o9 e B IR & 9 UM R S 3, O 6 SR 6 STeEes U Bir @ 7 1

Which type of semiconductor is obtained when Silicon doped with Boron ?

& A % Al fea 8 ? 1

What is the molality of pure water ?

H, + Br, — 2HBr, 39 34k & fau e a1 = K[H,][Br,]”, sifikar &t #ife s
it 1

H, + Br, — 2HBr, For this Reaction Rate = K[H,|[Br,|””. What is order of
reaction ?

goll e SR 1 Piciies 5 7 1
Smoke is which type of colloid ?

AsH; NH;, PH, @ BiH, ® 9 Ugdd¥ 319=ae fafaq 1

Among AsH; NH;, PH; and BiH; which is strongest reducing agent ?

ZSM-5 & 8 ? 1
What is ZSM-5 ?

Frfofaa § faameE ot Hi-a1 © ? 1
HCIO,, H;PO;, H;PO, 9 H;PO,
In the following which is Dibasic acid ?

DNA @ RNA ¥ fohaq-fhee & 81d & ? 1

How many bases are present in DNA and RNA each ?
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fAdsr : gygFT g § R el # gid &1 -
Fill in the blanks by appropriate words :
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27. AAME TG H ABR ............ BT B

Ionic solids have ............ shape
28. TEMENG B6AT Zn — Zn®" + 2¢ ... SR T AT B

Chemical reaction Zn — Zn** + 2¢ is an example of ............ process.
29. Cr,0,* & Cr & ST ST ............ Bl

In Cr,0,*, the oxidation number of Cr is .

30. [Cr{H,0)sCN|CL, T [Cr{H,0)sNC|CL, ¥ .......

U B GHEIE B

............ type of isomerism is present in [Cr(H,0)sCN]|CL, and [Cr(H,0)sNC]|CL,.

31. T==aH S STa=l Mn &l ............ 2l R

32. CI,0H,COd NO, & ... & IwgEdl f’ifes B

Among Cl~, OH, CO and NO, only .........

33. CH,Br—RCN , 4 LAlH,

In CH,Br KCN _, 5 LAlH,

34. ATP & QU TH 8 ..oovvee. |
Full name of ATP is ............ .

385. C,H.I, C,H,Br, C,H.F3 C,H.CI§ § .........

Among C,H;sI, C,HsBr, C,H;F and C,H;Cl,

B, Aand Bare ............ .
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